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LR—80—2024

FACULTY OF HUMANITIES

M.A. (Ext. Edu.) (Second Year) EXAMINATION

APRIL/MAY, 2024

ECONOMICS

Paper–VIII

(Research Methodology in Economics)

(Friday, 10-5-2024) Time : 2.00 p.m. to 5.00 p.m.

Time—3 Hours Maximum Marks—100

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(i)

(ii)

1. Write answer of any one question from the following in detail : 20

(i) Explain the meaning of problem formulation in research and explain

research problem selection.

(ii) What is practical research design ? What are its components ?
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WT (    2    ) LR—80—2024

2. Write answer of any one question from the following in detail : 20

(i) What is direct investigation method ? Write its merits and demerits.

(ii) What is data collection ? Explain in detail the methods of primary data

collection.

3. Write answer of any one question from the following in detail : 20

(i) Write information about probability sampling method.

(ii) Calculate the mode based on the given information :

x 6 7 8 9 10 11 12

f 11 18 16 8 21 3 2

x 6 7 8 9 10 11 12

f 11 18 16 8 21 3 2
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WT (    3    ) LR—80—2024

P.T.O.

4. Write answer of any one question from the following in detail : 20

(i) Explain the concept of Lawrence curve with suitable example.

(ii) Calculate the standard deviation based on the following data :

Age Number of

Dead Persons

0 – 10 5

10 – 20 12

20 – 30 30

30 – 40 45

40 – 50 50

50 – 60 37

60 – 70 21

0 – 10 5

10 – 20 12
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WT (    4    ) LR—80—2024

20 – 30 30

30 – 40 45

40 – 50 50

50 – 60 37

60 – 70 21

5. Write short notes on any two from the following : 20

(i) Importance of research

(ii) Research design

(iii) Census methods

(iv) Standard deviation.

(i)

(ii)

(iii)

(iv)

LR—80—2024 4
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